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Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

A ddasud) @¥alagd) (o plS JS) dawped) A giiadd) S
Write the augmented matrix for each system of linear equations.
9. 12x—5y=-9 10. —4x—6y =125
—3x + 8y =10 7x + 2y =16

12 -5, - -4 -6 25
A'—E!'B'll] A'72:15

B. [f; _35 B. [-4 =

c. [ii "33;;3 C. [—4 —25 ;g

D. [12: 190 D. [2 _74 19'[]'
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) ddasd) ¥ alagd! (pe LS JS) awged! A giad! iSI
Write the augmented matrix for each system of linear equations.
M. 3x—-5y+7z=9 12. 4x —z =27
—10x+y+8z2=6 —8x+ 7y —6z=—-35
12x — 3y + 5z =20

27 0 4 0 -1 |27
-6 —-35] B8 7 =6 -—35]
5 20 12 =3 5 20

-6 | 35
=3 |5 =20

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

-8 T =6 [|=35
2 =3 5 20

—1 |27 4 -1 0 27

Ad ) ddasd] ¥ alasd! (o pllad S dawged! dgraydl us
Write the augmented matrix for each system of linear equations.
13. w—8x+5y=11 14. 14x — 2y + 3z = —22
7w+ 2x—3y+9z=-5 dw — 4x + 11z = —8
6w+ 12y — 15z =4 2w—6y+3z=15
3x +4y —8z=-13 Bw+7x—y=1

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




Find the determinant of each matrix. Then find the inverse of the matrix, if it exists.
Ay ) Adghay) weSae do> o Al Sgrad! (0 JS ddome s>

a1

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Find the determinant of each matrix. Then find the inverse of the matrix, if it exists.
Ay ) Adghay) weSae d> o Al Sgragd! (0 JS ddome s>
—4 6 ] 2 =3 ]

g —12 o8- [—2 —2

|

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




OSel ) (¥ alae aUAS US Joud dewSal) i giiasd) @ osuiu
Use an inverse matrix to solve each system of equations, if possible.

1. Sx =2y =11 2. 2x+3y=2
—4x+ 7y =2 x—4y=-21

X=A"B

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

OSel ) (¥ alae aUAS US Joud dewSal) i giiasd) @ osuiu
Use an inverse matrix to solve each system of equations, if possible.
3. —3x+5y=33 4, —4x+y=19
2x — 4y = —26 3x — 2y = —18

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




dlhoall cilyilan¥l aie ¢priagall rikdill eila dogdimall dobhéll caniiall dhdiangl
Find the midpoint of the line segment with endpoints at the given coordinates.

1. (=4,7), 3,9 2. (8,2), (-1, —5)
3. (11, 6), (18, 13.5) 4. (—12, -2), (—=10.5, —6)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

dlhoall cilyilan¥l aie ¢priagall rikdill eila dogdimall dobhéll caniiall dhdiangl
Find the midpoint of the line segment with endpoints at the given coordinates.
10. (20, 3), (15, 5) 1. (=27, 4), (19, —6) 12. (—0.4,7), (11, —1.6)
13. (5.4, —8),(9.2,10)  14. (—5.3, —8.6), (—18.7, 1) 15. (—6.4, —8.2), (—9.1, —0.8)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



[Ailyilan] slheall blaill (1o 2gj JS o daluwall aa
Find the distance between each pair of points with the given coordinates.
5. (3, —5), (13, —11) 6. 8.1,1-2.9)

% (0.25,.1.75), (3.5, 2.5) 8. (—4.5,10.75), (—6.25, —=7)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

[Ailyilan] slheall blaill (1o 2gj JS o daluwall aa
Find the distance between each pair of points with the given coordinates.

16. (1, 2), (6, 3) 17. (3, —4), (0, 12) 18. —6,—7), {11, —12)
19. (—10, 8), (—8, —8) 20. (4, 0), (5, —6) 21. (7, 9), (—2,—10)
22. (—4, =5), (15, 17) 23. (14, —20), (—18, 25)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




Graph each equation.
20, y= %xz
23. y=3(x—3)*>—5

g

dlalea 4 uyl
22. y=—-2(x—2)>+3

25. 4x— > =2y + 13

y4N

Easy Math - Mr. Ali Abdalla

Graph each equation.

Grade 12 General Term 2

dlalea 4 uyl

25. 4x— > =2y + 13

Easy Math - Mr. Ali Abdalla
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dlaleall gilyll Jiiaill 2rags o liloa
Which of the following represent the graph of the equation
1
= (x %+ 1)2 =3

e

umu) [

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

dlaleall gilyll Jiiaill 2rags o liloa
Which of the following represent the graph of the equation
x—y2=4y+3

Y

»

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




lle a50a Jis o8 X2 + §2 = BT Lialalaw 38)s 1B cautiy 3550 A=
Find the center and radius of the circle with equation x> + y? = 81.
Then graph the circle.

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Lola 35040 (o of Ladad iy 3505 JS 3Spe do
Find the center and radius of each circle. Then graph the circle.
8. x2+1y°=16

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




Lola 35040 (o of Ladad iy 3505 JS 3Spe do
Find the center and radius of each circle. Then graph the circle.
9. X*+y—72%=9

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Lola 35040 (o of Ladad iy 3505 JS 3Spe do
Find the center and radius of each circle. Then graph the circle.
10. (x—4)>+ (y—4)>=25

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



Lola 35040 (o of Ladad iy 3505 JS 3Spe do
Find the center and radius of each circle. Then graph the circle.
M. x>+y>—4x+8y—5=0

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

dlaloall [liaT g ill 8yilall jhd canig jSp0 48 oli Lao
Which of the following represent the radius and center of the circle with
the following equation

(x—2)+(y—-1)?2%=09

A r=3,(-2-1)
B) r=9,(2,1)
C) r=3,(21)
D) r=3,(1,2)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



dlaloall [liaT g ill 8yilall jhd canig jSp0 48 oli Lao
Which of the following represent the radius and center of the circle with
the following equation

xZ+y%—2x—4y = -2
A) r=+3,(1,2)
B) r=+5,(1,2)
C) r=+/3,(2,4)
D) r=3,(1,2)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

KeyConcept Equations of Hyperbolas Centered at (h, k) ]

(h, ) sie La3S e gy i) 55130 godail ¥slas joum (sl p sl

(y—;!r)z_(x—z‘r)zz1 (x—:‘:)z__(y—k)z_‘I i) ddeal!
4 b2 2 bt Standard Form

i P Orientation al>g ¥

(h, k £ ) ; Foci ol s |
(h, k £ a) p Vertices Yo

(h £ b,k) , Co-vertices 4zl o)) ugs I

@JLE:JI u-h:'- ¥ alae

— a — .
y— k=t {x—h) Equations of Asymptotes
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o) Glass 5555 el ) 3 Ll w15 gad US S
Graph each hyperbola. Identify the vertices, foci, and asymptotes.

Vertices: ~ Vertices:
foci: | foei:

Asymptotes: Asymptotes:

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

o) Glass 5555 el ) 3 Ll w15 gad US S
Graph each hyperbola. Identify the vertices, foci, and asymptotes.

2
y x2

6. ¥—5=1

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




o) Glass 5555 el ) 3 Ll w15 gad US S
Graph each hyperbola. Identify the vertices, foci, and asymptotes.

7. 9> + 18y — 16x% + 64x — 199 = 0

Vertices:
foci:

Asymptotes:

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

o) Glass 5555 el ) 3 Ll w15 gad US S
Graph each hyperbola. Identify the vertices, foci, and asymptotes.

7. 9> + 18y — 16x% + 64x — 199 = 0

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




o) Glass 5555 el ) 3 Ll w15 gad US S
Graph each hyperbola. Identify the vertices, foci, and asymptotes.

8 4x2+24x—y> +4y—4=0

Vertices:
foci:

Asymptotes:

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

o) Glass 5555 el ) 3 Ll w15 gad US S
Graph each hyperbola. Identify the vertices, foci, and asymptotes.
8 4x?+2Ux—y*+4y—4=0

w

!

| S T CF’\ el

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2
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Which of the augmented matrices represents Jsl=J! (e dawsed) Slosand) o
the solutions of the system of equations? fe¥aslagl) pliae
x+y=13
2x—3y=-9

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




LgJJJL‘Lo 5_,3‘3 f|n3 —ualg JS_,.Q N
Find the center and radius of the circle with equation
(x—4)2+y*—16=0.

; r =4 units
; + =16 units

= 4 units

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

el Cualg 38 el Eole 13) 3503 JSI Walae S
Write an equation for each circle given the center and radius.
12. center: (4,9),r=6 13. center: (—3,1), r=4 14. center: (=7, —3),r=13
15. center: (—2, —1),r=9 16. center: (1,0), =15 17. center: (0, —6), r = V35

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



V5 18k canig (—2,3) 1jSpe @il 8lall dlalea Jios ol Loa
Which of the following represent the equation of a center (—2, 3)
and radius V5

A) (x=2)+(y—-3)=5
B) (x+2)* +(y—3)* %5
C) (x+2)2+(y—3)2=5
D) (x+2)?+(y+3)2=25

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

What is the radius of the circle with Ledsles 350 ad o Lo
equationx? + 2x+ y2 + 14y +34=0? x? + 2x + y2 + 14y +34=0

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



KeyConcept Equations of Ellipses Centered at (h, k) 1
b=h® =R =R et
a? b? a? b2

Orientation horizontal vertical

1 1

Standard Form

Foci (h £ c, k) (h k + ¢)

Vertices (hxa,k (h, k= q)

Co-vertices (h, k £ b) (h X b,k)

Easy Math - Mr. Ali Abdalla Grade 12 General Term 2

Write an equation for each ellipse. . 230 adad JSJ Wslae as)

1" (0,10)

[0, 8\
08:\
}

24%31:
]

Easy Math - Mr. Ali Abdalla Grade 12 General Term 2




Write an equation for each ellipse. ., 30 adad I dslao as!

_. gD A2

A) (x495) +(;v 254) o

(x+5)?2  (+4)? _
49 + 25

B)
(x + 5)2 __(y+4)2 _
49 25

C)
(x+5)?2  (+4)?
D) 25 + 49 1

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Write an equation for each ellipse. ., 30 adad I dslao as!
(1,7)

14. Y \
. A2 ; 2
: A) (e— W W+2)° _ 4
f 81 9

-1 (-4
B) 5+ =1

_ 13)2 2
C) (x — 1) (y+2) i

9 = 81 z
(x+1) (y + 2)~
D) 9 81 =1

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



Write an equation for each ellipse.

15. | o}/
6

(x+5)2+(y—1)2_
16 64

(x+5) (y-1)' _
64 16 5

(x-5) (y+1]2_1
16 64

(x+57 (y-1)°_
16 64

1

Easy Math - Mr. Ali Abdalla Grade 12 General Term 2

— N2 — 2)2 .
— )2 — 2)?

N
36 144

What are the vertices of the ellipse with equation (x

12

A (=3,2)and (9, 2)
B (—2,3)and (10, 3)
(©)(, ~10) and (3, 14)
D (2, —11) and (4, 13)
Easy Math - Mr. Ali Abdalla




l oo r'd:-:'uab ddo g yned) £ odadl) Cavial ‘b’.‘.l.‘-" ga>le

\ ConceptSummary Classify Conics with the Discriminant I

Discriminant

Conic Section

B2 —4AC<0:B=0andA=C

circle 5505

B2 — 4AC < 0; eitherB# 00orA# C

ellipse uasl alad

BZ—4AC=0

parabola 950 gl

BZ—44AC>0

hyperbola Bl phad

Easy Math — Mr. Ali Abdalla

Grade 12 General Term 2

3150 Lilad L) Sl Jieid) GLS &) 4551 Aewli)) diually Dolae JS LS (e
S0 Laad 3? LA Liiad gi 33.'!’.1 gi

Without writing in standard form, state whether the graph of each equation is

a parabola, circle, ellipse, or hyperbola.

5. 4 + 6y —3x— 2y =12

A) Parabola (AlSa akad
B) Circle 5l
C) Ellipse =il akad
D) Hyperbola il alad

Easy Math — Mr. Ali Abdalla

6. 59> =25+ 6y —8 + 3x°

A) Parabola (AlSa akad
B) Circle 5l
C) Ellipse (=8l ol
D) Hyperbola ) aks

Grade 12 General Term 2




8150 LE3 1g) L) i) OIS o) 5551 Aewlial! diwially Wsles IS LES Gaus
) A1 L of LASG Liind of §,515 of
Without writing in standard form, state whether the graph of each equation is
a parabola, circle, ellipse, or hyperbola.

7. 8x2+8y>+16x+ 24 =0 8. 4x> — 6y =8x+2

A) Parabola (ASa gk A) Parabola (8lSa ala
B) Circle EPYIR B) Circle 5,3
C) Ellipse (=il alad C) Ellipse =il gl
D) Hyperbola ) ) tjng D) Hyperbola Q) tl:'é

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

LS, Liad 1y led! Jlgid! LS O) 553 Al dhuall Wolae JS LS oo
J.fn{jl.{hj gi Ladl Liad gi 3,‘,.'!’.1 gi

Without writing in standard form, state whether the graph of each equation is
a parabola, circle, ellipse, or hyperbola.

9. 4x% — 3y? + 8xy — 12 = 2x + 4y 10. 5xy — 3x% + 6y> + 12y = 18

A) Parabola (ASa gk A) Parabola (8lSa ala
B) Circle EPYIR B) Circle 5,3
C) Ellipse (=il alad C) Ellipse =il gl
D) Hyperbola ) ) tjng D) Hyperbola Q) tl:'é

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




8150 LE3 1g) L) i) OIS o) 5551 Aewlial! diwially Wsles IS LES Gaus
) A1 L of LASG Liind of §,515 of
Without writing in standard form, state whether the graph of each equation is
a parabola, circle, ellipse, or hyperbola.

M. 8x2 + 12xy + 169> + 4y — 3x =12 12. 16xy + 8x2 + 8y> — 18x + 8y =13

A) Parabola (AlSe pla A) Parabola (8\Sa ali
B) Circle 5l B) Circle 5 5l
C) Ellipse (=il alad C) Ellipse =il gl
D) Hyperbola il alad D) Hyperbola ) akad

sbsm&huu;u@wgggmg‘n
Which is NOT the equation of a parabola?

F y=3x*+5x—3
G2y+3x>+x—9=0
H x=3(y + 1)2

J x>+ 2y2+6x=10

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




Q16 Solve each system of equations.
1. 8y = —10x
=2 —7

asy Math - Mr. Ali Abdalla

Q16 Solve each system of equations.

3. y=12x — 30
4x* — 3y =18

asy Math — Mr. Ali Abdalla

¥ alae plAS JSI Mo aor
2. x2 + y2 = 68
5y =—3x+ 34

Grade 12 General Term 2

¥ slae plad U Mo aor
4. 6y> — 27 = 3x
by —x=13

Grade 12 General Term 2




Q16 Solve each system of equations.
5. x>+ y> =16
x2 —y2 =20

asy Math - Mr. Ali Abdalla

Q16 Solve each system of equations.

7. 2+2y=7
yZ_x2=8

asy Math — Mr. Ali Abdalla

¥ slae plad U Mo aor
6. y2—2x2=8
3y? + x* = 52

Grade 12 General Term 2

¥ slae pldd U Mo oo
8. 4y — 3x2 =11
3y + 2x2 = 21

Grade 12 General Term 2
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Q17 alaigd) Slas¥) geiud Say=12+24 x = —3f cas|
Write x = —3¢ and y = t* + 2 in rectangular form.

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



riabazedl Aas¥) gozwdl b a3,08u0 spall y = 4E g X = t2 — 5 LS|
Write x = t* — 5 and y = 4t in rectangular form.

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Write each pair of parametric equations in dygall dihugll c¥aleall o 2gj 5 caisl
rectangular form. Then graph the equation and -2oloiall gilan ¥l ggimall o4 54-TJ|_5421_|
state any restrictions on the domain. Jlaall gle ag18 ol y55lg Liily dlaleall Jie @i

9. x=2t—5y=t+4 10. x=3t+9,y=t>-7

y

il L HLVS T SV R R |

! S

| |
S . -4 =L
-qclhu.lht.lum._
& i i
.3 1 T
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Write each pair of parametric equations in dygall dihugll cdaleall o 2gj 5 caisl
rectangular form. Then graph the equation and -aaloiall @ ilan )l sqiuall g4 4 'J|_5-.'=1_|
state any restrictions on the domain. Jlaall gle ag18 ol y55lg Liily dlaleall Jie @i
N x=#>—2,y=>5¢ 2. x=t*+1,y=—4t+3

y

|
e L B SV R R |
Il »

|
2

| |
= - 1=
-..]Jhl.h.lht.lul\)-—
& i i
.3 T T

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Write each pair of parametric equations in dygall dihugll cdaleall o 2gj 5 caisl
rectangular form. Then graph the equation and -aaloiall @ ilan )l sqiuall g4 4 'J|_5-.'=1_|
state any restrictions on the domain. Jlaall gle ag18 ol y55lg Liily dlaleall Jie @i

13. x=—t—4,y=3¢t 1B, x=5t—1,y=2t>+38

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



Write each pair of parametric equations in dygall dihugll c¥aleall o 2gj 5 caisl
rectangular form. Then graph the equation and -aaloiall @ ilan )l sqiuall g4 4 'J|_5-.'31_|
state any restrictions on the domain. Jlaall gle 2q1é ol 5alg Luily dlaleall Jio i

B ox=4%,y=2+9 6. x=1+2,y=

Grade 12 General Term 2
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If Cisa5 X 1 matrix and D is a 3 X 5 matrix,
what are the dimensions of DC?

5X'5

@ 3X%x1

@ 1X3
DC is not defined.

Grade 12 General Term 2
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1 =2
What is the productof [5 —2 3] and [0 3]?
z B

@ [11 —1]
® | ]

©

(D@ undefined

asy Math — Mr. Ali Abdalla Grade 12 General Term 2

Find the value of det Aif A = [—

@ 0
@ 12
@ 25

@D 36

asy Math - Mr. Ali Abdalla Grade 12 General Term 2




Find AB and BA, if possible.
1. A=[8 1]

3 7]

asy Math — Mr. Ali Abdalla Grade 12 General Term 2

Find AB and BA, if possible. .oSal gl tBA g AB dr
3. A=[3 -5
[ ] a. A=[4]
0 —2] 5
—3 2 B=[6 1 —10 9]

asy Math — Mr. Ali Abdalla Grade 12 General Term 2




Find AB and BA, if possible.
[ P2
S
L —6

Easy Math - Mr. Ali Abdalla Grade 12 General Term 2

Find AB and BA, if possible.

3 4
7. =
A [—7 1]

5 2 —8
-6 0 9

Easy Math - Mr. Ali Abdalla Grade 12 General Term 2




021 .oy U a3 O] cidasl ¥ alagd! (e pLAY JS o Slom¥ rol )S ducld puasuiul

Use Cramer’s Rule to find the solution of each system of linear equations,

if a unique solution exists. ;

1. —3x+y:4 12 2x—f—3y:4 13. 5x+4y='7 14. 4x+—3~y:8
2x+y=-—6 S5x+6y=>5 —x—4y=-3 3x+y==6

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

021 o9 > 9> O] cddasd) G¥alagd) (e pLAD US o slom¥ rol )5 Gueld pusuiul
Use Cramer’s Rule to find the solution of each system of linear equations,
if a unique solution exists. S—

6. x+y+z=12 i =
bx —2y—z=16
3x +4y + 2z =28

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




021 o9 > 9> O] cddasd) G¥alagd) (e pLAD US o slom¥ rol )5 Gueld pusuiul
Use Cramer’s Rule to find the solution of each system of linear equations,
if a unique solution exists.

B 2x=-y+z=1
x+2y—4z=3
dx + 3y —7z=—8

No solution

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

021 .oy U a3 O] cidasl ¥ alagd! (e pLAY JS o Slom¥ rol )S ducld puasuiul

Use Cramer’s Rule to find the solution of each system of linear equations,

if a unique solution exists. 17. x + 2y =12 18. 9x + 7y = —30
3y —4z =125 8y +5z=11
x+oy+z=20 —3x+ 10z =73

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




translation

Reflection
Concept Summary wlsnyl wligaae  Reflection Matrices

For a reflection over the: (@agulaeill |x-axis R, ss>!

Multiply the vertex matrix on 1 0
the left by: 5 il déa : [0 —1}
8 il dagéne eyl

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Conce_gt Summary Rotation Matrices

For a counterclockwise rotation 90° 180° 270°

about the origin of:

Multiply the vertex matrix on [0 "(1)] [“8 0]
—]

the left by: 1

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




Which matrix represents a reflection over the y-axis followed
by a reflection over the x-axis?

©

(D@ none of these

Easy Math — Mr. Ali Abdalla

=)

ke ]

it
0]

0
=T
=19
—i |

Grade 12 General Term 2

sl bd Lol e o .o US sa¥ lisias) pas
Sty calidlia ¥ 258 o @S day @ spmally

Use matrices to perform each transformation. Then graph the pre-image and the
image on the same coordinate grid.

pasawl L0, —=2) 4 K(1, 3) ¢ (=2, 5) Lugs )t JKL el
A5 sawl) Jole o cilidd) cildlas] slawd ulal) o))

5. Triangle KL has vertices /(—2,5), K(1, 3), and L(0, —2). Use scalar multiplication
to find the coordinates of the triangle after a dilation of scale factor 1.5.

Easy Math — Mr. Ali Abdalla

J'(—3,1.5), K'(1.5, 4.5), L'(0, —3)
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Joomd! hB oLy oo pd - Jaans JS ¢l ¥ ligiasd) pasuul
Lty lSlasP) ASed e SUS sy 5 0ally
Use matrices to perform each transformation. Then graph the pre-image and the
image on the same coordinate grid.

D(—1,—1) 4 C(3, —=1) 4 B(3, 3) ; A(—1, 3) Lus5,0) ABCD & ,.U .6
Jaw¥) ) gbasgs slud) ) dasly dasg as3¥L o)) ey o) Goldlas) 4 o .
6. Square ABCD has vertices A(—1, 3),B(3,3),C(3,—1),and D(—1, —1). Find the
coordinates of the square after a translation of 1 unit left and 2 units down.

A'(—2,1), B'(2, 1), C'(2, —3), D'(—2, —3)

Joomd! hB oLy oo pd - Jaans JS ¢l ¥ ligiasd) pasuul
gy SLSlas¥) A8 Lle SUS say 3,9ally
Use matrices to perform each transformation. Then graph the pre-image and the
image on the same coordinate grid.

(0, _1) 9 (_3, _2) 9 (_4, 1) L] (_1, 2) u.u_g_f;_,.” ABCD é—l;-a-u «7
Y ssdd) o> wlS¥h posed) 3590 4>
7. Square ABCD has vertices at (—1, 2), (—4, 1), (—3, —2), and (0, —1). Find the image
of the square after a reflection over the y-axis.

A’(1,2), B'(4, 1), C'(3, —2), D'(0, —1)
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Use matrices to perform each transformation. Then graph the pre-image and the
image on the same coordinate grid. |

4 =2
s S Jes Reludl ¢ sglds) a8l olmdl) o2 270° aygl oljealls Eulil))
3 -1

2 4
after a rotation of 270° counterclockwise about the origin.

dgue Ao .[3
2

8. Triangle PQR is represented by the matrix [ _12] Find the image of the triangle

P'(2, —3), Q'(4,1),R'(—2, —1)

Joomd! hB oLy oo pd - Jaans JS ¢l ¥ ligiasd) pasuul
s LSlasY) A5 le US day 5 9ually

Use matrices to perform each transformation. Then graph the pre-image and the
image on the same coordinate grid.

oo susd ) colS 15) Ry se=ed) < Rotygg aas ALMN 5,50 o >

) N (=1, =2) s M (=3, 2) , L(-6, 4)
9. Find the image of ALMN after Rot,g, - Ry-axis if the vertices are L(—6,4), M(-3,2),

and N(—1,—2).

L'(—6,—4),M'(—3,—2),N'(—1, 2)




The wind was blowing quite strongly when Jlab ¥l s s calS Loaie 13> 352 cop b)) calS
Jenny was baby-sitting. She was outside with the 8,8 28wl 5,800 oy;-h'dh-]nm alS Lasae CJB‘JI' o8 w—u =alS

children, and they were throwing their large plastic ball 7"~ ) ] . A¢ .
up into the airsThe wind blew the ball so that it landed - 8 3 M waliy o e wlasa o 8,80 thifhumFla lsgll (3

approximately 3 meters east and 4 meters north of lagd 2 Lolal) glSe s JLei) &b 4 Mg
where it was thrown into the air a w0 ) 5,800 Jlasly 5,50 gia‘z’l B s iy ] 8

a. Make a drawing to demonstrate the original
location of the ball and the translation of the =
ball to its landing spot tise Jio dgams caSls 3,50 Gla¥) ol Lo {y] cals 13) b

= ) oo g | o3|

Lybosea

b. If represents the original location of the ball, write
a matrix that represents the location of the
translated ball.

o g o)l R84
| | 4

AN
TN

3F

= |
- =g
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Use scalar multiplication to determine the coordinates of gy bl X
thevertices of each dilated figure. Then graph the pre-image

and the image on the same coordinate grid.

3 saaall Jale C(5, 1) 4 B(1, 4) g A1, 1) i) o3, .11
1. triangle with vertices A(1, 1), B(1, 4), and C(5, 1); scale factor 3

YJ

IZ"B
101
a-.
1B
le |A’ =
T C
i +—t . ol

2 4 6 8101214 X

A’(3, 3), B'(3,12), C'(15, 3)
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Use scalar multiplication to determine the coordinates of gy bl X
thevertices of each dilated figure. Then graph the pre-image

and the image on the same coordinate grid.

3 :
Z sadd) LL"L‘: :Z(_B, 2) 9 Y(_S, 9) 9 X(O, 8) Eli) Uv99) 12

12. triangle with vertices X(0, 8), Y(—5, 9), and Z(—3, 2);scale factor %
Y y

7 ? 3 .3 / 1 1
X'(0,6), Y(—33,63), 225}, 15)

L S wedy wbdlas) wasad U""'L"‘Jl = s s
m#dam:;,ﬂl,&ﬂ‘whhdﬁnp J.I....JL:

Use scalar multiplication to determine the coordinates of Mgy LS lasY)

thevertices of each dilated figure. Then graph the pre-image
N

and the image on the same coordinate grid.

-3 -2 1 4
0 2 3 2

-3 -2 1 4
0 2 3 2

] ; scale factor 2

13. quadrilateral PQRS with vertex matrix [

P'(—6 0) Q'(24 4) R'(2 6) S'(8 4)
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State whether each quantity described is a vector quantity
or a scalar quantity. -igate pé i of dgnio iueS oo g0 ga &g S OIS 13 Lo S5
125 N Lo jlans 3925 4283 gl Goris
1. a box being pushed with a force of 125 newtons
2. wind blowing at 20 km/h 20 km/h ae s s 2!

3 olsals 1S M/S dc s &S, Ul
3. adeer running 15 meters per second due west
136 km/h ace o L4830 o3 3acld 3,5
. a baseball thrown with a speed of 136 km/h
. a 15-Newton tire hanging from a rope J«=> ¢ Ja 15N o5 Us)

. arock thrown straight up at a velocity of 15 meters per second
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Q10 .z=(—3,0)g.w=(—4,1),y=(2,5)_lﬂl.u3ls.\_?
Find each of the following for w = (—4, 1), y = (2, 5), and z ~ (=3, 0).
a. w+y
w+y=(—4,1) + (2,5) Substitute.
=(—4+2,1+5)o0r(—2,6) Vectoraddition
b. z—2y
z—2y=z+ (—2)y Rewrite subtraction as addition.
= (=3, 0) + (—2){2, 5) Substitute.
= (-3, 0) + (—4, —10) or (—7, —10) Scalar multiplication and vector addition

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Q10 .z=(—3,0)g.w=(—4,1),y=(2,5)_lﬂl.u3ls.\_?
Find each of the following for w = (—4, 1), y = (2, 5), and z = (-3, 0).

3A. 4w + z

3B. —3w

3C. 2w+ 4y —z

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



Q10 h=(=6,2) g f= (8, 0), g= (-3, —5) Cu> b Lo 45 4>
Find each of the following for f = (8, 0), g = (=3, —5), and h = (—6, 2).

M. 4th—g 12. f+ 2h

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Q10 h=(=6,2) g £=(8 0), g= (-3, =5) Cuc> b Lot 15 dr
Find each of the following for f = (8, 0), g = (=3, —5), and h = (—6, 2).

13. 3g—5f£+h 14. 2f + g —3h

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




h=(=6,2) y £=(8,0), g= (-3, —5) du> b loo 35 4>
Find each of the following for f = (8, 0), g = (=3, —5), and h = (—6, 2).

15. f—2g — 2h 16. h — 4f + 5g
17. 4g—3f+h 18. 6h + 5f — 10g

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

QI Tt — 2sie b Lo (o 5= (4, —3) t = (—6, 2) calS 13
If s = (4, —3) t = (—6, 2), which of the following represents t — 2s?

F (14, 8)
G (14, 6)

(H)(-14, 8)

J (—14, —8)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




120° waloni! dgle 10 o ok V doied S ol &9 dsr
Find the component form of the vector v with magnitude 10 and
direction angle 120°.

v = (|v| cos 6, |v]| sin 6)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

5385 e)! aloi¥) dyglle Sadelly VI Al ) 8y suall ar
Find the component form of v with the given magnitude
and direction angle.

6A. |v| =8, 6 =45 6B. |v| =24, 6 =210

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



(50 29508 ol %) dagl g sdelly V andiell &8 ) 6 ) giad) o
Find the component form of v with the given magnitude and
direction angle.

38. |v|=12, 8 = 60° 39. [v|=4, 6 =135 40. |v| =6, 0 = 240°

M. |v|=16,0=330° 42. |v|=28,0=273  43.|v|=15,6=125°

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

17 Mm/s Lajud adlan) de uw 5,8 Jorwo e o
bl S A B g s LS a8Y) jemdd) lel 25° a5
ool s 0¥ (S ,ed) (golane oo
A player throws a baseball with an |n1t|al velocity of 17 meters per second
at an angle of 25° above the horizontal, as shown below.
Find the magnitude of the horizontal and vertical components.

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2
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Find the angle 0 between u and v to the nearest tenth of a degree.
16. u= {0, —5), v= (1, —4} 18. u=(-2,4),v= (2, —10)
17. u=(710), v= (4, —4) 20. u=(—9,0),v= (-1, —1)
22. u=(6,0),v=(—10,8)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

o ! (se b pdie (30 £ 0 BY V g U G 0 agl ) dr
Find the angle 0 between u and v to the nearest tenth of a degree.
19. u= —2i+ 3j,v=—4i—2j 21. u=—i—3j,v=—7i— 3
23. u=—10i +j, v=10i —5j

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2



A tour of the Sierra Madre Mountains lets &8 Aagaally £ UL £ 33 (5 paba | ) e Jlud Ad o> gansd
guests experience nature by zip-lining from JBUal e g Al ) duala e (B35 Jaaa Jg ) B b
one platform to another over the scenic GY39 S Lagia Jay ju (pialia Jifiad ol g Adasaall 481A)
surroundings. Two platforms that are ok aly Eua (70, 92, 30) 5 (10, 12, 50) cililaayy
connected by a zip-line are represented by the AL cLdlaay)
coordinates (10, 12, 50) and (70, 92, 30), Crfaial) Jay )1 23300 @Y Jaa Jsh 2 ()
where the coordinates are given in feet. Ofieaiall G Adlal) chualiia B 4l dala sl sl (@)
a. Find the length of the zip-line needed to Baaad) dala) cililaa) aa  tadlal)
connect the two platforms.

AB=1/(x; = )2 + (y — y)2 + (2, — 2% =V (70 — 10)2 + (92 — 12) + (30 — 50)2 =~ 101.98

b. An additional platform is to be built halfway between the existing
platforms. Find the coordinates of the new platform.

(-"1+-"2 Y1t ¥, fx“z) _ (10470 12+ 92 50+ 30
2 ’ ’ 2 — 2 ’ ’ 2

= (40, 52, 40)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

adas elewad) 3 Lasg>g ane J3Y) Lle 0.8 kM s le el slal) 5% o) dedlwd) galy) cillazs
¥l cildlasy) ilh o o (135, =75, 8400) , (90, 45, 9000) wlilas¥l oo Slel gbals
) Saeda) wlgd olSgs obslall Ja A
Qag, L)) Glad¥) [lowas) dlazs culdlas) Led .3 ,8ke o5 AU s s pomanly ayb cilali 3] @ 13) B
Safety regulations require airplanes to be at least 0.8 kilometer apart when in the sky. Two
planes are flying above Dubai with the coordinates (90,45,9000) and (135, —75,8400),
where the coordinates are given in meters.
A. Are the two planes in violation of the safety regulations? Explain.
B. If a firework was launched and exploded directly in between the two planes, what are
the coordinates of the firework explosion?

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




-1 tigpall Lﬂ-lSJb@.lbﬂ.l[olMLlLﬂ.l s ilall dlsdiig dagiluell dokdll Yghn 2 a
Find the length and midpoint of the segment with the given endpoints.
9. (—4,10,4),(1,0,9) 10. (—6, 6, 3), (—9, —2, —2)
1. (6,1,10), (-9, =10, —4) 12. (8,3,4),(—4,-7,5)
13. (—3,2,8),(9,6,0) . (—7,2,—5), (—2, —b, —8)

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

A family from Wichita, Kansas, is using a GPS arass allas jles elunS lidig oo 5, pasius
device to plan a vacation to Castle Rock, Colorado. 95055085 .2y, JuwlS 8 allas) daiasiall (GPS) L olal) 2315l
According to the device, the coordinates for the family’s £37.7°,97.2°, 433 M) ssc 8,.a¥) 500 a_‘_, slgsl) Lag
home are (37.7°, 97.2°, 433 m), and the coordinates to S s (39.4°, 104.8°, 1981 m) ol Lol el ATy

Castle Rock are (39.4°, 104.8°, 1981 m). Determine the . 7
! ! iy o comndl el glos)¥l o el 535 I das
longitude, latitude, and altitude of the halfway point e B okt Sk skl =

between Wichita and Castle Rock. gy JwlSy
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ing a training session, the location of (—87, 215, 4,830) L3 las¥) colS . yas dual L)
two F-18 fighter jets are represented by the coordinates : o s o J:‘_“ (203, 34 19'90)
(203, —36, 1990) and (—87, 215, 4,830), where the . GAALS Es ’ ’ .

ole¥lh oldlas¥) el dos F-18 )b o fce >

coordinates are given in meters.
a. Determine the distance between the two jets. s Alall e d8ludd) sas L@

b. To what location would one of the fighter pilots have t F-18 3 Uil ol udall o sliall asi zlios adse 5% b
fly the F-18 in order to reduce the distance between t} Scaad) ) o lall e 28lad) o)

two jets by half?

Easy Math - Mr. Ali Abdalla Grade 12 General Term 2

lfu=(23),v=(-14),and v=1(-14) u= (2 3) o513
w=(8,—5),finduev)+(Wev). (UueVv)+(Wev)s >a.w=(8 =5),
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PART 3
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Q22 o g hdl (e ik gemns S 3hsw id) W51 adadll islas S
Write an equation for the hyperbola that satisfies each set of conditions.

3asg 20 330,00 yamodl Jokss (8, 0)y (=8, 0) 4Lui,) .37
37. vertices (—8, 0) and (8, 0), conjugate axis of length 20 units

PAPER

PART 3

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2




Q22 o g ) (o Ak getns S B3asw gid) L6131 adadll idslas S

Write an equation for the hyperbola that satisfies each set of conditions.
3a>g 24 33, ool Joksg .(0, 6)5 (0, —6) oLui,Jl .38

38. vertices (0, —6) and (0, 6), conjugate axis of length 24 units

PAPER

PART 3

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

Q22 o g ) (o Ak getns S B3asw gid) L6131 adadll idslas S
Write an equation for the hyperbola that satisfies each set of conditions.

(—6, —2)5 (10, —2) 4,515 (=2, —2), (6, —2) ;L1039
39 vertices (6, —2) and (—2, —2), foci (10, —2) and (—6, —2)

PAPER

PART 3
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Q22 o9 i) (po Ak gemme S Basw i) 0130 alaGll Asles CIS)
Write an equation for the hyperbola that satisfies each set of conditions.

(=3, —13)y (=3, 9) 4,515 (=3, —8), (=3, 4) L.1,0.40
40. vertices (—3, 4) and (—3, —8), foci (—3, 9) and (—3, —13)

PAPER

PART 3
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Q22 o9 i) (po Ak gemme S Basw i) 0130 alaGll Asles CIS)
Write an equation for the hyperbola that satisfies each set of conditions.
Sslasg 4 380 o)) jesdd) Joksg lisg 10 L_,.a!‘a‘l b)) jemad) Jobg Jo¥) ddnz, aie 3S,o)) pa 41
41. centered at the origin with a horizontal transverse axis of length 10 units O
and a conjugate axis of length 4 units

PAPE

PART 3
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Q22 Ao g il (ro dc gomme US Fasw i) 51 plail) Wsles CIS)

Write an equation for the hyperbola that satisfies each set of conditions.

12 330,00 saoed! Jokog 8ag 16 Ll J) adolal) jomad) Jobog Juo¥) dlams s:c 35,0 aa .42

42. centered at the origin with a vertical transverse axis of length 16 units and
a conjugate axis of length 12 units

: PAPER

PART 3
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Eiman is pushing the handle of a lawn mower with a force L ldae & cediad) jor W auia (les) a2
of 450 newtons at an angle of 56° with the ground. _ uéjﬂ a0 56° 44l 450N

a. Draw a diagram that shows the resolution of the force I -
that Eiman exerts into its rectangular components. ';’."J : ‘J'_;"""’ ?;""' e il "‘:"‘.’ e : a
b. Find the magnitudes of the horizontal and .. ':“. ,Lf T ?J' alea) '4‘-’:*‘ o
vertical components of the force. B gal) G g dcd¥) (S o ol S b

. .yl
Sm56——m

|x| = 450 cos 56° |y| = 450 sin 56°

| sins byl = 573 PART 3 : PAPER
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.BMwmagﬁJIEﬂ‘oMM&byuhMMJM@ A
Ac pea! A Mg A0V i M Jada as B
6. A player kicks a football so that it leaves the ground with a velocity of 44 feet per
second at an angle of 33° with the ground.
A. Draw a diagram that shows the resolution of this force into its rectangular components.
B. Find the magnitude of the horizontal and vertical components of the velocity.

F 3

PART 3 : PAPER

ouMlaHlemdﬁMpyMme‘d
Draw a diagram that shows the resolution of each vector casield Gl Iy 228Y) (LS ol Glie oo o

into its rectangular components. Then find the magnitudes

. . 28%) .S ,4)) 20 310° _l,2—cm.38
of the vector’s horizontal and vertical components. el S <g

N49°E al>wil 1.5 cm .39

38. 2%.: centimeters at 310° to the horizontal

39. 1.5 centimeters at a bearing of N49°E

PART 3 : PAPER




Bdalaiel) GUS g0 () dvie US (ol g ladadl pu) pealy pd
Draw a diagram that shows the resolution of each vector RCHTE P R TPR 1L TR PR Golade aar w
into its rectangular components. Then find the magnitudes

S78°W alxil 3.2 cm/h.40
of the vector’s horizontal and vertical components. g

, ) 255° alsib 3 cm/min .41
40. 3.2 centimeters per hour at a bearing of S78°W 4

4. %centimeters per minute at a bearing of 255°

PART 3 : PAPER

bl adasiill g Jb dovingoll el 3,5 JS) @ coua Y dsloe b .42
Baelaie LS e J) s5a)l oda Judss oge ‘:,Jn;._b:-:v ) i 2 .8
Sl My 258 LS ) palis o D
42. SOCCER For a field goal attempt, a ball is kicked with the
velocity shown in the diagram below

. Draw a diagram that shows the resolution of this force
into its rectangular components.

. Find the magnitudes of the horizontal and vertical
components.

a) 60 ft/s,120 ft/s
b) 120 ft/s,60 ft/s
c)45 ft/s,77.9 ft/s
d)77.9 ft/s, 45 ft/s

PART 3 : PAPER




wa,¥) aa 33° 4305 190 N Lajlane 592 205 ZwsSe yasms dnds pbss .43
Baslae BLS e ) 352)) ada o o lardass e preal o .2
Bl Ny B8 LKl peiliin i B
43. CLEANING Buthaina is pushing the handle of a push broom

with a force of 190 newtons at an angle of 33" with the ground.
a. Draw a diagram that shows the resolution of this force into its rectangular components.

b. Find the magnitudes of the horizontal and vertical components.

a) 103.5N,159.3N
b) 159.3N,103.5N
c) 123.4N,144.5N

d) 144.5N,123.4N PART 3 : PAPER

A snow sled is pulled by exerting a force Jja ole 10 8g8 Jay JAA 1o 2gli daYjcinw i
of 110 newtons on a rope that makes a 2590 99 Las «d18a¥l 415 sall &0 20° diglj J4ils
20° angle with the horizontal, as shown ctnul Jgatall Jeill gupaill jadoll Lo Joilly

in the figure. What is the approximate $ia 15 délual da Xyl

work done in pulling the sled 15 meters?

A) 580.5 newton-meters
B) 1402.5 newton-meters

(C)1550.5 newton-meters ¢ s
D) 1695.5 newton-meters %
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A snow sled is pulled by exerting a force Jja ole 10 8g8 Jay JAA 1o 2gli daYjcinw i
of 110 newtons on a rope that makes a 2390 9B Las (41881 d15 pall £a 20° dyglj JAiiy
20° angle with the horizontal, as shown ctnul Jgatall Joill (g uyatll adall Lo . Jailly
in the figure. What is the approximate s laslaadiy
work done in pulling the sled 15 meters?

A) 580.5 newton-meters

B) 1402.5 newton-meters
(C)1550.5 newton-meters

D) 1695.5 newton-meters

Easy Math — Mr. Ali Abdalla Grade 12 General Term 2

30° G5 25 N als som dbpal) Casmunsy Lgoajas) caswall Jeod dape llalus P
M50 M advlingd dsyall Cumews wue olabiy aliyy 3! Jaid) oz Le U.d'il Sl g
Sultan uses a wagon to carry newspapers for his paper route. He is pulling the
wagon with a force of 25 newtons at an angle of 30° with the horizontal.
How much work in joules 1s Sultan doing when he pulls the wagon 150 meters?

% about 3247.6 J
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30% dgl50 25 N L5 392 & pal) sy Lgnjor) caseall Jos) &pe glalu pasia
150 M asle) a,ad) G wie glalu ain ) Jadd) jlane Lo .28¥ (5,00 ao
Sultan uses a wagon to carry newspapers for his paper route. He is pulling the
wagon with a force of 25 newtons at an angle of 30° with the horizontal.
How much work in joules 1s Sultan doing when he pulls the wagon 150 meters?

Easy Math - Mr. Ali Abdalla

For a field goal attempt, a ball 1s kicked with deyull 38 S o5 cdas 5Ly Aglas 8
the velocity shown in the diagram below. 3
a. Draw a diagram that shows the resolution of
this force into its rectangular components. Sk % el o4
. ladis ..:JL\S | |
b. Find the magnitudes of the horizontal and o 08 ) 898l 03
vertical components.

Ll g LY oL ulie w s b
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SCD slaaes &S ye 8y0u0 s Lo 5 .DX—4, —3) 5 (=9, 2) o LS5
Consider C(—9, 2) and D(—4, —3). Which of the following is the component

form and magnitude of CD?
F (5, —5),5V2 '
G <51 _5>; 6‘\/5

H (6, —5),5V2
J (6, —6), 6\/2

o
Ll
%:
o

PART 3
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